8 7 6 5 4 3 2

|
Technical Data 60 47.4
Unit Value [2.362] [1.866] o
Ball Screw Lead mm 2 6 []6'5 i W ? @'*'6 th
Max. Velocity 0.65] [1.181] S P
(w/ 17L30) mm/s 100 300 [013%4}
Force (w/ 17L30) N 1600 555
Standard | P Grade . 53
Repeatability +0.01 +0.003 o §
iﬁgﬁg@g mm s’ror':lc?ord 002
Running Parallelism defined 0.01 =
Backlash 0.02 0.003 ~ loa9a] &3
— Starting Torque N/cm 1.5 4
Bill of Materials
Part No. Description | Quantity
SKR26 Actuator 1
KR26-BKT-NEMAT17 Bracket 1
17L30C / 17830C Motor 1
RCLA16C-5-5 Coupling 1
M3-16mm Screws 4
M3-5mm Screws 4
62
[2.441]

47

f [1.85] ﬁ

40

50
[1.969]

23
[0.906]

SECTION A-A

(n-1)x80

UNITS: mm [inch]

*For single block, with cover. Please contact for more details.

NAME DATE DO NOT SCALE DRAWING DIMENSIONS ARE METRIC
Unless otherwise specified,
tolerance fo be:CNS 4018 DRAWN M.Mitchell| 11-Aug-2014| TITLE:
IT 14 Linear measures
) L - Overall Length Mass (kg)* 053 0] CHECKED .
SPA26-02-00 0 SL_eSrJlfro’rt]e RLér-'l Rﬁ:' AL LeArf:TEer?Tor G n = o ENG APPR. S PA'SerleS
o S ° w/ 17830 | w/ 17130 w/ 17830 | w/ 17L30 s i e Integrated Actuators
75N
060 68.4 [2.693] 150 [5.906] 220 [8.661] 285.3[11.232] | 301.3[11.862] | 35[1.378] 2 1.47 1.62 PROPRIETARY AND CONFIDENTIAL ‘“g‘\é\\i\q rzjj)f STE TPRT NG REV
Q‘y/\ Sl s . .
110 118.4 [4.661] | 200 [7.874] | 2701[10.630] |335.3[13.201] | 351.3[13.831]| 201[0.787] | 3 1.69 1.84 TR AWING IS THE SOLE PROPERTY OF T B
MYOSTAT MOTION CONTROL INC. ostat Motion Control Inc.
160 168.4 [6.630] | 250 [9.843] | 320[12.598] |385.3[15.169] | 401.3 [15.799] | 45[1.772] | 3 1.91 2.06 AN REPRODUCIION NPART OR A5 A ’ Jeosne s spaze 02 xxc17x30-x |- 0.0
210 218.4 [8.598] |300 [11.811]| 370 [14.567] | 435.3[17.138] | 451.3[17.768] | 30[1.181] | 4 2.13 2.28 OF COOLMUSCLE INC. S PROMIITED. o SCALE: 1:2 | WEIGHT: - | SHEET 1 OF 2
I I I I

8 7 6 5 f 4 ! 3 2 :




| )

Technical Data 60 64.2
Unit Value = [2:362] [2.528] o
Ball Screw Lead mm 2 6 [(]).652} - s p\u;\% >
Max. Velocity mm/s 100 300 . [1.866] “3 P
(w/ 17L30) [0.394]
Force (w/ 17L30) N 1600 555
Standard | P Grade . 53
Repeatability +0.01 +0.003 o §
Positionin = [
A?:SCL?rocs mm s’ror';ldoord 002 No Cover o R
Running Parallelism defined 0.01 Sé 34 6 J‘ —
[1.339] [1.181] [0.236] 0 &
Backlash 0.02 0.003 ey 0 o%
Starting Torque N/cm 1.5 4 [0.14272} _ [0.1545” [2.465] [0.394] =
Bill of Materials ]
Part No. Description | Quantity
SKR26 Actuator 1
KR26-BKT-NEMA17 Bracket 1
17L30C / 17S30C Motor 1
RCLA16C-5-5 Coupling 1
M3-16mm Screws 4
M3-5mm Screws 4

? ! I
S 3~
8.02 7
[0.316] |
L 50 J 80 L
[1.969] G [3.15] G
SECTION B-B
. []4%} (n-1)x80
*For single block, no cover. Please contact for more details. U N ITS: m m [InC h]
NAME DATE DO NOT SCALE DRAWING DIMENSIONS ARE METRIC
Unless otherwise specified,
tolerance fo be:CNS 4018 DRAWN M.Mitchell| 11-Aug-2014| TITLE:
IT 14 Linear measures
L - Overall Length Mass (kg)* - 0. CHECKED .
S-Stroke | RL-Rail |AL- Actuator ° (ka) TN . SPA-Series
SPA26-02-00 0O Length Length Length G N e 203 ENG APPR.
w/ 17S30 w/ 17L30 w/ 17530 w/ 17L30 120~315 £05 P |ﬂTegI’OTed ACTUOTOI’S
F R
060 68.4 [2.693] 150 [5.906] 220 [8.661] 285.3[11.232] | 301.3[11.862] | 35[1.378] 2 1.36 1.51 PROPRIETARY AND CONFIDENTIAL ‘“g‘\é\\i\q rz/]/j}f S7E TPRT NG S5V
Q‘y/\ A////; . .
110 118.4 [4.661] | 200 [7.874] | 270[10.630] |335.3[13.201] | 351.3[13.831] | 20[0.787] | 3 1.57 1.72 "DRAWING IS THE SOLE PROPERTY OF =
MIOSTAT MOTION CONTROL INC. Myostat Moion Control Inc. B sPA26-X-02-xxx-x-xxxx-17x30% | 0.0
160 168.4 [6.630] | 250 [9.843] | 320[12.598] | 385.3[15.169] | 401.3 [15.799] | 45[1.772] 3 1.78 1.93 Y REPRODUCTON INPART OR A A leoi\f/%ggg?g
210 218.4[8.598] | 300 [11.811]| 370 [14.567] | 435.3[17.138] | 451.3[17.768] | 30[1.181] 4 1.99 2.14 OF COOLMUSCLE INC. IS PROHIBITED. ‘ . SCALE: 1:2 | WEIGHT: - | SHEET 2 OF 2
I I I I

8 7 6 5 f 4 ! 3 2 :




	Cover
	Drawing View1
	Drawing View2
	Drawing View3
	Drawing View4
	Section View A-A
	Drawing View6

	No Cover
	Drawing View7
	Drawing View9
	Drawing View10
	Drawing View11
	Section View B-B
	Drawing View12


